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oioad)l saz| Jl Joogll sic Lo aall gllay
Alang Threzhald \

XN

oy

Fallig Thnzbei

Folioy baooimes
asiive

Ol woleVl dousl|

baclaio esllo n1=16

douall loolus n2=4

5 :adludl
1595 opu none n3=6
éaclaio gollo n4=6
15

o> dl> none n5=13
15 0 S|
Pl s
SOl quas none n6=20
Ao 5 0
ECARCY

dous| Lol n7=4

5 :aJludl
09>

dauo 31 none n8=20




NP
15 Jl asiy
JOYR
S
6acblaio gollo n9=16
15

asis 055 | @251) (CLI) oloVl Sl g9 plasiawly wlgzsall e &axlly RMON awis oS <liSa,
oJ|>| J_gS_g.ag_,J Solol plaziwl, eYsxally ole>gall Lleg (Lol aw dg=ls o &lasYl ollacly RMON
RMON-MIB 0 ;> lebass pivw (il olalsoll .(SNMP) Loyl dSaill

Juasil, el >V

S>> eliwl

250> elinY LoVl 1iD paciwl

snmpset -c <read write community> <device name> .1.3.6.1.2.1.16.9.1.1.x.y <variable type> #
<<value
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eventStatus / .1.3.6.1.2.1.16.9.1.1.7.y *
variable type=integer *
value=4 *
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eventStatus / .1.3.6.1.2.1.16.9.1.1.7.y
variable type=integer *

value v=2 *

(ol o9 sa>

eventDescription / .1.3.6.1.2.1.16.9.1.1.2.y *

(variable type=string (for Net-snmp) or octetsting (for Openview *
value = a description of the event *

o Sl Gl gg5 50> 4
eventType / .1.3.6.1.2.1.16.9.1.1.3.y *
variable type=integer *

= value *

none <= "1"

log <= "2"
snmp-trap <= "3"
log-and-trap <= "4"
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rdosMall goizall dluilw 30> .5
eventCommunity / .1.3.6.1.2.1.16.9.1.1.4.y *
(variable type=string (for Net-snmp) or octetsting (for Openview *
"<value="<trap community_string *
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eventOwner / .1.3.6.1.2.1.16.9.1.1.6.y *
(variable type=string (for Net-snmp) or octetsting (for Openview *
"<value="<event_owner *
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eventStatus / .1.3.6.1.2.1.16.9.1.1.7.y *
variable type=integer *

value=1 *
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snmpset -c¢ .1.3.6.1.2.1.16.3.1.1.x.y <read write community> <device_name> <variable type> #
<<value
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alarmStatus / .1.3.6.1.2.1.16.3.1.1.12.y *

variable type=integer *

value=4 *
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alarmStatus / .1.3.6.1.2.1.16.3.1.1.12.y *
variable type=integer *

value=2 *
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alarmInterval / .1.3.6.1.2.1.16.3.1.1.2.y *
variable type=integer *
<value=<n_seconds *

‘il 0 15 sl OID sa> .4
alarmvariable / .1.3.6.1.2.1.16.3.1.1.3.y *
(variable type=objid (for Net-snmp) or objectidentifier (for Openview *
<value=<oid_to_check *
i SVl 23saill g0 Loy miy 29 .5
alarmSampleType / .1.3.6.1.2.1.16.3.1.1.4.y *
variable type=integer *
value=<rising threshold> "1" => absoluteValue "2" => deltaValue *
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alarmStartupAlarm / .1.3.6.1.2.1.16.3.1.1.6.y *
variable type=integer *

=value *

risingAlarm <= "1"

fallingAlarm <= "2"

risingOrFallingAlarm <= "3"

a0l dusll pass .7



alarmRisingThreshold / .1.3.6.1.2.1.16.3.1.1.7.y *
variable type=integer *
<value=<rising_threshold *

ralad luiod| dusll 3ox5 .8
alarmFallingThreshold / .1.3.6.1.2.1.16.3.1.1.8.y *
variable type=integer *
<value=<falling threshold *
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alarmRisingEventIndex / .1.3.6.1.2.1.16.3.1.1.9.y *
variable type=integer *
<value=<event_ID *
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alarmFallingEventIndex / .1.3.6.1.2.1.16.3.1.1.9.y *
variable type=integer *
<value=<event_ID *
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alarmOwner / .1.3.6.1.2.1.16.3.1.1.11.y *

(variable type=string (for Net-snmp) or octetsting (for Openview *
<value=<owner *

alarmStatus / .1.3.6.1.2.1.16.3.1.1.12.y *
variable type=integer *
value=1l *
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safari# show rmon events
Event table is empty

snmpset -c private safari .1.3.6.1.2.1.16.9.1.1.7.123 integer 4 #
4 =16.9.1.1.7.123
snmpset -c private safari .1.3.6.1.2.1.16.9.1.1.7.123 integer 2 #
2 =16.9.1.1.7.123

safarif#fshow rmon events

Event 123 is under creation, owned by
Description is

Event firing causes nothing, last fired 00:00:00

"snmpset -c¢ private safari .1.3.6.1.2.1.16.9.1.1.2.123 string "test_event #
"test_event" = 16.9.1.1.2.123

snmpset -c private safari .1.3.6.1.2.1.16.9.1.1.3.123 integer 4 #

4 =16.9.1.1.3.123



"snmpset -c¢ private safari .1.3.6.1.2.1.16.9.1.1.4.123 string "public #

"public" = 16.9.1.1.4.123
"snmpset -c private safari .1.3.6.1.2.1.16.9.1.1.6.123 string "event_owner #
"event_owner" = 16.9.1.1.6.123

snmpset -c private safari .1.3.6.1.2.1.16.9.1.1.7.123 integer 1 #
1 =16.9.1.1.7.123

safari# show rmon events

Event 123 is active, owned by event_owner

Description is test_event

Event firing causes log and trap to community public, last fired 00:00:00

safari# show rmon alarm
Alarm table is empty

snmpset -c¢ private safari .1.3.6.1.2.1.16.3.1.1.12.321 integer 2 #
2 =16.3.1.1.12.321

safari# show rmon alarm

Alarm 321 is under creation, owned by
(Monitors ccitt.0 every 10 second(s

Taking absolute samples, last value was 0
Rising threshold is 0, assigned to event 0
Falling threshold is 0, assigned to event 0
On startup enable rising or falling alarm

snmpset -c private safari .1.3.6.1.2.1.16.3.1.1.2.321 integer 120 #

120 = 16.3.1.1.2.321

snmpset -c¢ private safari .1.3.6.1.2.1.16.3.1.1.3.321 objid .1.3.6.1.2.1.2.2.1.10.12 #
OID: interfaces.ifTable.ifEntry.ifInOctets.12 = 16.3.1.1.3.321

snmpset -c private safari .1.3.6.1.2.1.16.3.1.1.4.321 integer 2 #

2 =16.3.1.1.4.321

snmpset -c¢ private safari .1.3.6.1.2.1.16.3.1.1.6.321 integer 3 #

3 =16.3.1.1.6.321

snmpset -c¢ private safari .1.3.6.1.2.1.16.3.1.1.7.321 integer 140000000 #
140000000 = 16.3.1.1.7.321

snmpset -c private safari .1.3.6.1.2.1.16.3.1.1.8.321 integer 10 #

10 = 16.3.1.1.8.321

snmpset -c private safari .1.3.6.1.2.1.16.3.1.1.9.321 integer 123 #

123 = 16.3.1.1.9.321

snmpset -c private safari .1.3.6.1.2.1.16.3.1.1.10.321 integer 123 #

123 = 16.3.1.1.10.321

"snmpset -c¢ private safari .1.3.6.1.2.1.16.3.1.1.11.321 string "alarm owner #
"alarm_owner" = 16.3.1.1.11.321

snmpset -c¢ private safari .1.3.6.1.2.1.16.3.1.1.12.321 integer 1 #

1 =16.3.1.1.12.321

safari# show rmon alarm

Alarm 321 is active, owned by alarm_owner

(Monitors ifEntry.10.1 every 120 second(s

Taking delta samples, last value was 130244

Rising threshold is 140000000, assigned to event 123
Falling threshold is 10, assigned to event 123

On startup enable rising or falling alarm
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